Umt #16 Graphs
Sectlon A Bar graphs

Answers of the given home work

| ActIVIty book page 1 13,1 14 & 115

Text book page. 124 - Q No. 1 1

(Do the text book problems m your notebook)'"”""”"W

Please check your answers and correct the

wrong ones
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Eg:3 Refer T.B pg:124 Q.NO 2
horizontal

2. The bar graph shows how Areeb uses his monthly salary Study the graph. Then, GNSWes

the questicns below. WUl - o Bl | a) Transport = $ 150
Sovings l |
Shopping | 2 l | b) Food and bills =$ 400 + $500 = $900
Bl 1%4. |
fronspoet [ ] | ’ c) Savings —shopping =$ 300 - $200 =$100

Food

0 $100 $200 $300 $400 $500 $600
. Amount of money spent

d) $ 300 + $200 + $500 + $150 + $400 =$1550

[a) How much does Areeb pay for his fransport? 400
b} How much does Areeb spend on food and bills? 300
el How much more does Areeb put in his savings then spend on shopping? +500 -200
{d) How much does Areeb earn each month? >, 900 100




Refer A.B pg:113

Number of hours B

Types of transport




v Refer A.B pg:114

lnfgtpr.ﬂn_g bar grdpi“_

1. The bar graph shows the examination scores of Shama and her friends. EA
xaminations scores of She and her friend
] ‘ :

b) Vaneeza scored highest -- 95

{a) How many pupils passed the examination?

c)Highest score = 95
s ot Lowest score =45
So difference =95 - 45 =50

e} What is the difference between the highest score and the lowest score?

| = =y

{d] What is the total score of the 4 pupils? d) 90 + 95 + 55 + 45 285

'b




Refer A.B pg:115

b) Average = total drink / no.of weeks = 4200 + 4

4200 + 4 = 1050 drinks

ly the graph and complete the fable.

| Wook | Numbor of arins s0s_| | c) Difference in sale = 3" week — 1st week
3 * =1000 - 500 = 500 drinks

lal How many drinks were sold in that month?

d) 4t week - 15t week = 1500 — 500 = 1000
1000 fewer drinks

6] What is the overage number of drinks sold per week?

(e} What is the difference in sales between the two weeks with the least sales?

(d) There are 'fewefdrinkssoldln1he.ls'weekthmtheluslweek. E)3rd WGEk Sale - 1000
Price per cup =5 1.50

(&) If the price of the drinks Is $1,50 per cup, what is the sales for the 3rd week?

Price for 1000 drinks =1000 x 1.50 =1500 .00
S 1500




